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Question Number : 1 Question Id : 864351811 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For an electromagnetic wave travelling in free space, the relation between average energy

densities due to electric (U,) and magnetic (U,,) fields is :
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Options :
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Ut‘. T Ulll

8643512432.

T = 17T
IJE L!.'I'I

8643512433.

U <1
8643512434, °© =

Question Number : 1 Question Id : 864351811 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 864351812 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The volume V of an enclosure contains a mixture of three gases, 16 g of oxygen, 28 g of
nitrogen and 44 g of carbon dioxide at absolute temperature T. Consider R as universal gas

constant. The pressure of the mixture of gases is :

Options :

8643512435.

8643512436, V



ART

8643512437. Y

88RT
8643512438, Vv

Question Number : 2 Question Id : 864351812 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 3 Question Id : 864351813 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For changing the capacitance of a given parallel plate capacitor, a dielectric material of

dielectric constant K is used, which has the same area as the plates of the capacitor. The

thickness of the dielectric slab is %d , where ‘d’ is the separation between the plates of parallel
plate capacitor. The new capacitance (C') in terms of original capacitance () is given by

the foﬂnwi_ng relation :

Options :
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Question Number : 3 Question Id : 864351813 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 864351814 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The velr:rcit}r-dispiacement graph describmg the motion of a bicg,-‘cie is shown in the [ igure.
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The acceleration-displacement graph of the bicycle’s motion is best described by :
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Question Number : 4 Question Id : 864351814 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 864351815 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass m slides along a floor while a force of magnitude F is applied to it atan angle
B as shown in figure. The coefficient of kinetic friction is . Then, the block’s acceleration
‘a’is given by :

(g is acceleration due to gravity)

Options :
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Question Number : 5 Question Id : 864351815 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 864351816 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bar magnet of length 14 cm is placed in the magnetic meridian with its north pole pointing
towards the geographic north pole. A neutral point is obtained at a distance of 18 cm from
the center of the magnet. If B;;=0.4 G, the magnetic moment of the magnet is (1 G=10"1T)
Options :

1
8643512451. 28] T

W 1
8643512452, 2:880x10° ] T

1
8643512453. 28501 T

o 3 1
8643512454, 2000 x10° J'T

Question Number : 6 Question Id : 864351816 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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8643512452, 2880102 T~ 1
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8643512454, 2080 X107 T

Question Number : 7 Question Id : 864351817 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angle of deviation through a prism is minimum when

(A) Incident ray and emergent ray are symmetric to the prism
(B) The refracted ray inside the prism becomes parallel to its base
(C) Angle of incidence is equal to that of the angle of emergence
(D)  When angle of emergence is double the angle of incidence
Choose the correct answer from the options given below :
Options :

8643512455 Only statements (A) and (B) are true

643512456, Statements (A), (B) and (C) are true

8643512457, Only statement (D) is true

643512458, Statements (B) and (C) are true

Question Number : 7 Question Id : 864351817 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 864351818 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An RC circuit as shown in the figure is driven by a AC source generating a square wave. The

output wave pattern monitored by CRO would look close to :
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Question Number : 8 Question Id : 864351818 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 864351819 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A block of 200 g mass moves with a uniform speed in a horizontal circular groove, with
vertical side walls of radius 20 cm. If the block takes 40 s to complete one round, the normal
force by the side walls of the groove is :

Options :

8643512463, V0314 N

4
8643512464, 0859 x107% N

) 3
8643512465, 0-28% 1077 N

8643512466, 2-899x10 "< N

Question Number : 9 Question Id : 864351819 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643512463, 0-0314 N

4
8643512464, 2529 x107° N
" 3
8643512465, 028X 1077 N
8643512466, 009 ¥ 1077 N

Question Number : 10 Question Id : 864351820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In thermodynamics, heat and work are :
Options :
8643512467, Point functions

8643512468, Path functions



8643512469, Intensive thermnd}-'nanuc stale variables

8643512470, Extensive thern‘md}fnaﬂuc stale variables

Question Number : 10 Question Id : 864351820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 864351821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum and minimum distances of a comet from the Sun are 1.6 x 10" m and
8.0 ¢ 1010 m respectively. If the speed of the comet at the nearest point is 6 10* ms 1, the
speed at the farthest point is :

Options :

3
8643512471, 10X 107 m/s

3.0 %103
8643512472, S0 X107 m/s

8643512473, 6-0% 107 m/s

; 3
8643512474, 12X 107" m/s

Question Number : 11 Question Id : 864351821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

3
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3
8643512472, 20 X107 m/s

3
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Question Number : 12 Question Id : 864351822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Four equal masses, m each are placed at the corners of a square of length (I) as shown in the

figure. The moment of inertia of the system about an axis passing through A and parallel to
DB would be :
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Question Number : 12 Question Id : 864351822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 864351823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 25 m long antenna is mounted on an antenna tower. The height of the antenna tower is
75 m. The wavelength (in meter) of the signal transmitted by this antenna would be :
Options :

8643512479, 200

8643512480, 00

8643512481, *00

8643512482, 100



Question Number : 13 Question Id : 864351823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643512479. 200

8643512480, 200

8643512481, 400
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Question Number : 14 Question Id : 864351824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential in the context of photoelectric effect depends on the following property
of incident electromagnetic radiation :

Options :
8643512483, Frequency

8643512484, Amplitude

Triteiisity
8643512485, ensity

8643512486, Lhase

Question Number : 14 Question Id : 864351824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 864351825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Time period of a simple pendulum is T inside a lift when the lift is stationary. If the lift moves

upwards with an acceleration g/2, the time period of pendulum will be :
Options :
T
8643512487. V3
3T
8643512488. V3

8643512489.

«ET

8643512490.

Question Number : 15 Question Id : 864351825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 864351826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plane electromagnetic wave of frequency 500 MHz is travelling in vacuum along y-direction.

Ata particular point in space and time, E — B0 x107" :l . The value of electric field at this
point is:

(speed of light=3x10% ms~1)

A

x, y, z are unit vectors along x, y and z directions.
Options :

Aa s
8643512491, —+ X V/m

8643512492, =6 x V/m

8643512493, 2+ x V/m

= iy T
8643512494, —0 ¥ V/m

Question Number : 16 Question Id : 864351826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 864351827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A ccrnduc'r_‘ing bar of length L is [ree to slide on two pa:aﬂc-l conductmg rails as shown in the

figure
[ ]
N
v =
Sy "
Rl < E"‘ i R2
2 <
X x |
|

Two resistors R and R, are connected across the ends of the rails. There is a uniform magnetic

field _E: pointing into the page. An external agent pulls the bar to the left at a constant
speed o.

The correct statement about the directions of induced currents [, and I, flowing through
R, and R, respectively is :

Options :

[, is in anticlockwise direction and I, is in clockwise direction
8643512495. =



[, is in clockwise direction and [, is in anticlockwise direction
8643512496. =

Both Il and [, are in anticlockwise direction
8643512497. £

Both I and I, are in clockwise direction
8643512498. -

Question Number : 17 Question Id : 864351827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 864351828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The pressure acting on a submarine is 3 x 10° Pa at a certain depth. If the depth is doubled,

the percentage increase in the pressure acting on the submarine would be :

(Assume that atmospheric pressure is 1 x 10° Pa density of water is 10° kgm ~3, g =10 ms ~ %)

Options :

8643512499.

8643512500. -

8643512501, -

8643512502.

Question Number : 18 Question Id : 864351828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 864351829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting wire of length °I', area of cross-section A and electric resistivity p is connected
between the terminals of a battery. A potential difference V is developed between its ends,

causing an electric current.

If the Iength of the wire of the same material is doubled and the area ol cross-section is

halved, the resultant current would be :

Options :

8643512503.

8643512504.

8643512505.

8643512506.

Question Number : 19 Question Id : 864351829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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8643512505, + PI
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Question Number : 20 Question Id : 864351830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One main scale division of a vernier caﬂipers is ‘a’ cm and nth

division of the vernier scale

coincide with (n—1)¥ division of the main scale. The least count of the callipers in mm is :

. n—14%
T .
8643512507. R
‘10 na

Options :

8643512508, (™ 1)

10 a
8643512509, 1

10 a
n—1)

8643512510.

Question Number : 20 Question Id : 864351830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Physics Section B

Section Id : 86435156
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435156
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 864351831 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A sinusoidal voltage of peak value 250 V is applied to a series LCR circuit, in which R=38 (),
L=24 mH and C=60 pF. The value of power dissipated at resonant condition is ‘x" kW,

The value of x to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 864351831 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351832 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a [rame that is made up of two thin massless rods AB and AC as shown in the

f igure. A vertical force P of magxﬁtude 100 N is apphed at pni_nt A of the frame.

o
A

Suppose the force is P resolved parallel to the arms AB and AC of the frame.

The magnitude of the resolved component along the arm AC is xN.

The value of x, to the nearest integer, is

|Given :  sin(35%)=10.573, cos(35%)=0.819
sin(110%) =0.939, cos(110%)= —0.342 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351832 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



opgldul gatledt wur A waow gnléd Wil AB 2 AC gL e 34l Al dl. 100 N

e Y wlad Ged v P, Budl (G5 A 21 eouseinl 2ud B,

A
70701
< B
P )
\

I
145° i.\

e,

L

i

PP

AT

Ay P A el ozl AB A AC A #uie Bousd szl il 8. AC oot iz Bouwd
H2s el aN 8. x | Y, s yeuls Ak, 23,

[sin(35°) = 0.573, cos(35°)=0.819

sin(110°)=0.939, cos(110°)= —0.342 =uud ©, ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351833 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The first three spectral lines of H-atom in the Balmer series are given Ao s, Ay considering the

Bohr atomic model, the wave lengths of first and third spectral lines [i—IJ are related by a
3

factor of apprﬂxmtately v x1071,

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 864351833 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

H-vaueful e el s 2o qeiuz vl diadend hy, ay, Ay 8. Cller Yaue] {idd 2ue

= r = I i ) . y Y . & =
uay i dlldd qeiuz il [:Tl ‘ QAL ‘Y X 1071 gRLUSAA B, x o 4o, Amwsdy yells we,
3

-,

Y3l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351834 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The value of power dissipated across the zener diode (V,=15 V) connected in the circuit as

shown in the figure is x x 10~ ! watt.
Rg=35 (2
"'.;"'. -"'.'-".I."' ."'.‘ I
) =15V IS = R =900
29V ,=15V =L

L 4
]

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 24 Question Id : 864351834 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2l (Ul B2l 2quR MR sASHAL oz SBLS (V=15 V) L uict? (ol adl seicert (W)

xx10-1 die &,
Rg=35 ()
EETRVIVAN =R =900
2V YRy =
xoe e, s yels e, B,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351835 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A ball of mass 10 kg moving with a velocity IID\.":’_; m s~ ! along X-axis, hits another ball of
mass 20 kg which is at rest. After collision, the first ball comes to rest and the second one
disintegrates into two equal pieces. One of the pieces starts moving along Y-axis at a speed
of 10 m/s. The second piece starts moving at a speed of 20 m/s at an angle 0 (degree) with

respect to the X-axis.
The configuration of pieces after collision is shown in the figure.

The value of 0 to the nearest integer is

After Collision

AY

» X axis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351835 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



10 kg £ azietell 244 X-2gdl o 1043 ms—1 w2dl Aot gxiedl =i ol B2 R wtal ol
20 kg ENAL “llad U5 8. 2AASHEL GlIE, HAY cld B2z RAAH 2ud 8. 2 ol “lladl o
DlSUAL 55 WH B, 215 2550 Y-21gtl Brst 10 m/s 2Ud sz g 52 6. ollsd 2550 X218 1ia
0 512l 20 m/s Al o254 el old 23 52 &, 2asHel uslHl R 2ugldu sulad 8. 0 4 Y, Awsdu
yeuls e, 23l

HULHEL “Le

AY

» X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351836 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a 20 kg uniform circular disk of radius 0.2 m. It is pin supported at its center and
is al rest init:iaﬂj,-'. The disk is acted upon b}’ a constant force F=20 N f_'h_rcrugh a massless

string wrapped around its periphery as shown in the figure.

F=20N

Suppmse the disk makes n number of revolutions to attain an angular sp::-ed of 50 rad s~ L.

The value of n, to the nearest integer, is

|Given : In one complete revolution, the disk rotates by 6.28 rad]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351836 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



0.2 m Bisatl g2l 20 kg Al 2401 adiusie dbd saml dl dd ddl S 2ol ke Galqud
259l ©. d 53 gurléd gl dleidl 2ugldul saleu w4uR w0 F=20 N seq o aousal 2ud

8.
7N
[ Fal Il'u
|I {: ll;l
\ f'lfl
x_\x % o J

F=20N

aal 5 dlst nodotdl whenel 53 50 rad s~ 1 ezl sielld 260 Und 52 B, n o Yo, Agsau yells
e, 23l.

[2is yel wkerel s34 dlsd 6.28 rad - wHel 52 9]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351837 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the logic circuit shown in the figure, if mput A and B are 0 to 1 respectively, the output at
Y would be 2.

The value of x is

Ae D"7
=

Response Type : Numeric

B

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 864351837 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

215(Al Bt dlsos v e, st G4y2 A 2 B 245 0 Al 1 €l Al Y 2o 2uG2ye v 8. x
doye  uaL

Ae :D%
=

Response Type : Numeric

W

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351838 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the figure given, the electric current flowing through the 5 k() resistor is ‘2" mA,

3k
vk 3k0

A £ v
,, |
21V, 1kQ

The value of x to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 864351838 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 whual, 5 kO eRianizl wdm adl By s ‘v mA 8.

3k
5 k0

5 W
E— A AA A

SRR Y VWYY

21V, 1k

5

x o e, s yeuls we,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351839 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fringe width of 6 mm was pmduced for two slits separated b}-’ 1 mm apart. The screen is

placed 10 m away. The wavelength of tht used is ‘1" nm.

The value of “x" to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351839 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



1 mm 22 264 o [fezl gl Gyt acusidl véloud 6 mm 8. WSEL 10 m §2 WA B, A4IHd
sl diadond ¥ nm 8.y o Y, Amsdy yells e, 6.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 864351840 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The resistance R = l , Where V=(50x2)V and [=(20£0.2)A. The percentage error in R is
l

‘x %.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351840 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M R = "*T sedl V=(50+2)V 21 [=(20+0.2)A 8. R i uldad ol v % 8. @ 4 4y,

A5 Yeuls iz, &.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A



Section Id : 86435157

Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435157
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 864351841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Asserion A The H- O - H bond angle in waler molecule is 104,57,

Reason R : The lone pair - lone pair repulsion of electrons is higher than the bond pair
- bond pair repulsion.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

8643512521 Both A and R are true, and R is the correct explanation of A

Both A and R are true, but R is not the correct explanation of A
8643512522.

8643512523 A is true but R is [alse

2643512504, '\ 15 false but R is true

Question Number : 31 Question Id : 864351841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



All o [l 2a O, w15 544 A 21 dlsan 514 R 2l ded 524 8.
sad At (AL el H- O - H aviel 104.5° 5.
SRULR : dAsgidile olasRs-20elasRs 2UsMNEL 2 HUsRS-CUs RS PUSMEL s3] dHIR M B
Guzdl (el digelil, = 2uddn Fsediiial vl st wis 3l
Options :
ol A A R © i R 24 A AL dell diggddl 8
8643512521.

9643512520, LA A R WAl 6 weL R 2L A AL el aatsyell -2l

AR 8 oL R v 8.
8643512523. >

. N
8643512524, 2 18 ® 8L R U ©.

Question Number : 32 Question Id : 864351842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Industrial process Application
(a) Haber's process (i)  HNO, synthesis
(b) Ostwald’s process (i) Aluminium extraction
(c) Contact process (iii) NH, synthesis
(d) Hall-Heroult process (iv) H550, synthesis

Choose the correct answer from the options given below :
Options :

8643512525, (@), (b)-(1), (c)-(i), (d)-(iii)

8643512526, \A-(ii), (b)-(1), (c)-(iv), (d)-(ii)

2643512507 (@ (1), (b)-(ii1), (c)-(iv), (d)-(1)

s643512508, @r(), (B)-(iv), (c)-(), (d)-(if)



Question Number : 32 Question Id : 864351842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wl - 1 s wlE - 10 A sl

-1 WR-1
walfE wsHl Guailial
(a) doz U5y (i) HNO, ¥#*duel
(b)  =lReles UsH (i) =yl [esde
(c) s usu (i) NH, H*aue
(d) cla-dalee usH (iv) H,S0, #*duel

AR 2t [Esegmigl Al s e s
Options :

_.trrb-.r "rd_"‘
g643512525. () (B)-(1), ()-(i), (d)-(iii)

8643512526, @ (i), (B)-(3). (0)-(iv), (d)-(i)
8643512527, (@), (b)-(ii), (c)-(iv), (d)-(1)

2643512528, (@)-(H1), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 33 Question Id : 864351843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A group 15 element, which is a metal and forms a hydride with strongest reducing power

among group 15 hydrides. The element is :
Options :
8643512529, Bl

8643512530. .

8643512531, 28

8643512532. b



Question Number : 33 Question Id : 864351843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=

HYE 15 Al cdeell 5 o tig © 2t 1y 15 @eddsl sl uen keyalbr ulsa (ased)aunl adsids o
& o ced AL

Options :

8643512529, B

8643512530. F

8643512531, A8

8643512532, SP

Question Number : 34 Question Id : 864351844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves the removal of sulphur from the ores is :
Options :

8643512533. Refinitg

Roastf_ng
8643512534.

8643512535, ~melting

Leaching
8643512536.

Question Number : 34 Question Id : 864351844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wizrsiHizll UeseA 52 S2ell Hie Hsoudd UsH sruel
Options :

1B
8643512533, =



8643512534, rt
8643512535, HaldEl

wallléd [Heusn
8643512536. let Rat

Question Number : 35 Question Id : 864351845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  H,O, can act as both oxidising and reducing agent in basic medium.
Statement Il : In the hydrogen economy, the energy is transmitted in the form of
dihydrogen.
In the light of the above statements, choose the correct answer from the options given
below :
Options :
Both statement I and statement 11 are true
8643512537.
Both statement I and statement 11 are false
8643512538.

8643512539, Statement 1 is true but statement 11 is false

Statement 1 is false but statement 11 is true
8643512540.

Question Number : 35 Question Id : 864351845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al o el 2 o.
[ 1 olbs wemul Hy0, 21 2538 21 Rostsdl oy ad .
[t 11 ;. dlort 2ol seeidlornl 23yl Glsde WRPLAA (transmitted) &M ©.
Guadl [Beudinl deeiul, 2L 2idan Fsedrisl Ael sediet weis sl
Options :

ol [Asie 1 2 (e 11 2R 8.
8643512537.



., ™ iy ~ = ~
643512538, AR [eaie 1 2 (a0 11 w21 9.

() - a1 o oo -
8643512530, A1 A © ueL (R 1 vilg B,

(e 1 vilz & wey e 1 e 9.
8643512540. =

Question Number : 36 Question Id : 864351846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Both CaCIE'EnHED and MBCIE'BH:,_D undﬂ-rgo dc-hydraticrn o1l heating.

Statement 11 :  BeQO is amphr:rteric whereas the oxides of other elements in the same group

are acidic.

In the light of the above statements, choose the correct answer from the options given
below :
Options :

8643512541, Both statement | and statement Il are true

8643512542, Both statement 1 and statement Il are false

8643512543 Statement 1 is true bul statement 11 is false

2643512544, Statement 1 is false but statement 11 is true

Question Number : 36 Question Id : 864351846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al o [anl =da .

[ 1: 203 3l vid CaCly-6H,0 214 MgCly8H,0 [As/dlsziel wit .

(2414 11: BeO 2 Gowpell & stz o o Uyl ollst dedliql 2ilsudl »ikls .
GuzAl FlaudiqL el A=l 2aien Fseuimizl wsl seiet vade s

Options :

; gk i) '_'!_ x s ™
8643512541, ol (A 1 2 [Aeq 11 2l o,



2 ey )
8643512542, 17 [ 1 2 [See 11 2L 9.

s - . 3 S b R =
8643519543, [ T 22 & we [Hai, 11 vig .

[ 1 iz & weor [Hae 11w S,
8643512544 -

Question Number : 37 Question Id : 864351847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
Name of oxo acid Oxidation state of ‘I”
(a) Hypophosphorous acid (1) 5
(b) Orthophosphoric acid (i) t4
(c) Hypophosphoric acid (i) +3
(d) Orthophosphorous acid (iv) +2
5 3 |

Choose the correct answer from the options given below :
Options :
8643512545, (@)1 (V) (b)-(iv), (c)-(ii), (d)-(ii)

8643512546, (@HIv), (B)-(0). ()-(i), (d)-(iii)
8643512547, @V, (b)-(v), (c)-(i1), (d)-(iii)

8643512545, @rV)s (D)-3), (c)-(i1), (d)-(iii)

Question Number : 37 Question Id : 864351847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AR 1R YA - A sdsL

Al -1 Y- 1
wlsl AL A Pl 2R )
(a) cdslsiru =ik (i) +5
(b)  »ialsirsilks w1k (ii) +4
(c) ezl =g (i) +3
(d)  =llsirsiy »ikas (iv) +2
(v) +1

Al v Bseqmizl el sl HE S30
Options :
2643512545, @r(V), (D)-(iv), (¢)-(ii), (d)-(iii)

2643512546, @) (1), (b)-(i), (c)-(ii), (d)-(iii)
2643512547, @), (B)=(v), (c)-(ii), (d)-(iii)

8643512548, @1 (V), (D)-(1), (c)-(ii), (d)-(ii)

Question Number : 38 Question Id : 864351848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statement : one is labelled as Assertion A and the other is labelled as

Reason R :
Assertion A :  Size of Bk * ion is less than Np? * ion.
Reason R : The above is a consequence of the lanthanoid contraction.

In the light of the above statements, choose the correct answer from the options given

below :
Options :
8643512549, Both A and R are true and R is the correct explanation of A

Both A and R are true but R is not the correct explanatic-n of A
8643512550.

8643512551, A is true but R is false



264351255y, A 1 false but R is true

Question Number : 38 Question Id : 864351848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A2t o Feul 2uda 8. 245 A 544 A 2 ol 51201 R 2l detd 534 .
sud A BK3' widd 58 Np?t 2t sl «Ulg 9.

sl R Guad o afi-dids wsluqq wkeus (consequence) 8.

GuzAl [Een-iAl Aol A= =ardal [Msedml A=l seaied vE 531
Options :

ot A A R 32l & 21 R 2 A Al sl wusyddl .
8643512549.

.y = o pe o 0o ’ "
0643512550, CILA P R Al 8 2 R 20 A ol wiell avigedl ell

8643512551, N HEH B WA R Mg B,

- - 4 . .
8643512550, A& O MU R U ©.

Question Number : 39 Question Id : 864351849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  The E° value for Ce* /Ce® " is +1.74 V.

Statement Il : Ce is more stable in Ce?* state than Ce® * state.

In the light of the above statements, choose the most appropriate answer [rom the options
given below :
Options :

Both statement 1 and statement 11 are correct
8643512553.

8643512554 Both statement 1 and statement Il are incorrect

8643512555. Statement 1 is correct but statement 1l is incorrect



8643512556, Statement 1 is incorrect but statement 1l is correct

Question Number : 39 Question Id : 864351849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al o [HaAl 2adAl 9.
[ 1:  Cett/Ce R B e+ 1.74 V 8.
[ 11 ;. Ce 21, Cett el Codt w22l S3dl el 220l o,

GuaAl [Ben-i-i deolul, 2 e Csedpisll Hiell 4y cdasiudl seeet ysis sL
Options :

i" [ . P -
0643512553, At (Al Dot Bl 11 4l ©.

i L 1] =] ek Iy )
2643510554 A (e 1 2 (2o 1 Wiz 9.

B M2l 89 oy [4s R
8643512555. RN HEL O B 19 11 g O.

oA Az 5w [as R B,
s643512556, LA ME & et Bt 1T &

Question Number : 40 Question Id : 864351850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of pollution that gets increased during the day time and in the presence of O, is :
Options :

8643512557, O UCInG SMOB

Oxidising smog
8643512558.

8643512559, *cid rain

Global wa n‘ning
8643512560.

Question Number : 40 Question Id : 864351850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

O, Al etordlail (B g3 98 MEHelHL M5 2UAL
Options :

gl ga-gpran

8643512557, L odnot 44

BIrE e f':i R
8643512555, Aol -

8643512559, “UEs <l

o e (ks daun)
8643512560.

Question Number : 41 Question Id : 864351851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In chromotography technique, the purification of compound is independent of :
Options :

8643512561, SOmbility of the compound

2643512562, Mobrht}’ or flow of solvent system

Length of the column or TLC plate
8643512563.

Phyvsical state of the pure compound
8643512564. !

Question Number : 41 Question Id : 864351851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
st2lugl (qelqavdl) ds(slul, wdlsvq yFERsweL 2@d § o
Options :

s643512561, lloretll gleel

8643512560, SIS HEUAl A ML Uelle

=3

3643512563, A4 (2ctod)Al dens =9 TLC we



BT il
8643512564, 44 wedlort-l dllds 2ae22

Question Number : 42 Question Id : 864351852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Among the following, the aromatic compounds are :

(A) C>—CH2 (8)

& ®

Choose the correct answer from the following options :
Options :

8643512565, (/4 and (B) only

8643512566, () (B) and (C) only

9643512567, Ok (G} and (DY only

(B) and (C) only
8643512568. 4

Question Number : 42 Question Id : 864351852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Al 2 sl @iriiles dslaL LAl

(A) —CH, (B)
(C) (D)
) ®
ARl 2 szl el sedier YHE sl
Options :
8643512565, £ (A) 1 (B)

8643512566, 5 (A), (B) ()
8643512567, 2 (B) (Q I (D)

55l i (C
8643512568, = (B) #H(O)

Question Number : 43 Question Id : 864351853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is Lindlar catalyst ?

Options :

8643512560, Partially deactivated palladised charcoal

8643512570, Sodium and Liquid NH4

Cold dilute solution of KNNnO 1
8643512571.

864351257, 2Anc chloride and HCI



Question Number : 43 Question Id : 864351853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al seusizll s4l dl-saz Gelus 7
Options :
ST <ifis s B [ 5 6)
2643512569, iRy 2l (Al A €l) vdsdy ArRsA

il ¥y st
2643512570, Allsuy i Ul NH,

KMnQ, - &5 HE glael
8643512571. 47 63 ¥ G0

————
8643512572, Gis smiuds =4 HC1

Question Number : 44 Question Id : 864351854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H,C Cl

ED",-P"{I'l IIAPGJ‘_ H‘,ﬁg_” {CI 13}3 CU_K'l' ::B.r.r
ST ' » F
358 K (Major Product) (Major Product)

The products “A" and “B” formed in above reactions are :

Options :
CH, CH,

8643512573.

CH, CH,

I
8643512574.



i

A_

CH, |
A — B —
8643512575,
CH, CH,
\ B =]

Question Number : 44 Question Id : 864351854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H,C

20% HyPO, — (CHy); COTKY L
38K (ayut flusy) " (palluer)

Guzl sl Al husd “A” 214 “B” 214l

8643512576.

Options :

|C,|I I CH,
8643512573.

CH, CH,

|
YA B
8643512574.



CH; CH,

I
A — B —
8643512575.

CHj, CHs

8643512576.

Question Number : 45 Question Id : 864351855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o—~_/
i) DIBAL-H, Toluene, —78°C wpr
ii) HyO™ (Major Product)

The product “P” in the above reaction is :

Options :

CHO

8643512577.

8643512578.



CHO

8643512579.

COOH

48

8643512580.

Question Number : 45 Question Id : 864351855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s

i) DIBAL-H, éledgd, —78°C L ap

r

i) HyO™ (v Alusy)

&

Gyl sl lusy “P7 2ldL
Options :

CHO

8643512577.

8

O—-C—H

G

8643512578.



OH

CHO

8643512579.

COOH
8643512580.

Question Number : 46 Question Id : 864351856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Enol form of acetone [CH,COCH,] exists in < 0.1% quantity. However, the
enol form of acetyl acetone [CH,COCH,OCCH,] exists in approximately
15% quantity.

Reason R : Enol form of acetylacetone is stabilized by intramolecular hydrogen bonding,

which is not poasible in enol form of acetone.

Choose the correct statement :
Options :
8643512581, Poth A and R are true and R is the correct explanation of A

2643512582, Both A and R are true but R is not the correct explanation of A

643512583, A is true but R is false

2643512584, [\ 18 false but R is true

Question Number : 46 Question Id : 864351856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



sud A w2 [CH,COCH,) + 9+l 234 < 0.1% szl 2Afkdcd 4 8 stk sledd
w2l [CH,COCH,OCCH,] 9-ld 2434 2422 15% sr2iil Ahedcet Q19 .
s R: @iRedd SRR dAld ey 2ol adgle vlad 48 R 8 5 o 2ARe2iHl
Sl 2e3vHL 2154 2l
Hiz [Heun usde sl
Options :

s6a3s1asg]. T APAR Ul © v R 3 A Al el wyedl 6.

ot A 24 R AR 8 veL R 20 A -l uell wusydl -2l
8643512582, -

A HEL 5 oL R wié 8,
8643512583. 10X <

AVE B el R WY 5.
8643512584

Question Number : 47 Question Id : 864351857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

NaNO,, HCl
273-278 K

" Xl” ) A“‘ <
Ll

Maj-:rr Product

In the above chemical reaction, intermediate “X” and reagent/ condition “A"” are :
Options :
NO,

X- ;. A- HyO/NaOH

8643512585.



N,Cl~

X - ; A- HO/A
8643512586.
.l_
N,Cl—
28 ;  A- HyO/NaOH
8643512587.
NO,
% - ; A- HO/A
8643512588.

Question Number : 47 Question Id : 864351857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

NaNO,, HCl . “a”
oo ayw A
273-278 K

(3t {lusy)

Gua-l 2eaals b, weaadl X7 =1 whbas /akeRaA “A” sal.
Options :



NO,

; A- H,0O/NaOH

O

8643512585.
X - @ ; A- H,0/A
8643512586.
+
N,Cl—
X - @ ; A- H,0/NaOH
8643512587.
NO,
- @ ; A - Hzof_"“t
8643512588.

Question Number : 48 Question Id : 864351858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fDHDwmg reaction DOES NOT involve Hoffmann bromamide degradatinn ?

Options :
86435125809.



I
CH2 I C T CH:} CHZ - NHE

i) Bry, NaOH/H *
i) NHy/A

iii) LiAlH,/H50

O
|

O/ Bry, NaOH
8643512590.
O
i NH,
Cl
i) NH;, NaOH
ii) Bry, NaOH

8643512591.

CN NH,
i) KOH, H,0
ii) Br,, NaOH
8643512592.

Question Number : 48 Question Id : 864351858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al=l 2rqarial 56 b s drituds Bas 2 dsoudy =l )

Options :

O
I

CH, —C—CHj CH, —NH,
i) Bry, NaOH/H "
i) NH;/ A
iii) LiAIH,/H,0

8643512589.




O
Il

CH; —C—NH, CH; —NH,
O/ Brs, NaOH
>
8643512590.

O
[ NH,
Cl
i) NHs, NaOH
11] HTZI, NaOH
8643512591.
CN NH,
i) KOH, H,0
ii) Br,, NaOH
8643512592.

Question Number : 49 Question Id : 864351859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functions of antihistamine are :
Options :
8643512593, Antiallergic and Analgesic

Analgesic and antacid
8643512594,

Antacid and an’r:EaIIergic
8643512595.

8643512596, Antiallergic and antidepressant

Question Number : 49 Question Id : 864351859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Rﬁf@ﬁ'ﬂlﬁdﬂ 514 (functions) 2Ll
Options :



8643512593, My HA AR

8643512504, QEER 2 Uld BilAs

- ;= ™ ‘-\r r
8643512595 Ul 2iRs 2 uld 2ias

.-‘-r S o 2
8643512596 wld=ias) 2 Gerdldaridl

Question Number : 50 Question Id : 864351860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following pairs of Vitamins is stored in our body relatively for longer
duration ?

Options :

8643512597 Thiamine and Ascorbic acid

8643512598, Vitamin A and Vitamin D

8643512599 L iamine and Vitamin A

Ascorbic acid and Vitamin D
8643512600.

Question Number : 50 Question Id : 864351860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al el Ferldidl st Usl 58 2iven alzul diet d3u 12 d2 (stored) 8 7

Options :
8643512507 ARl 2t 2Asl(cls 2R

8643512505, el A 24 [Hepl D

8643512509, ALl i (el A

8643512600. »2sllels =g 21 [evl D



Chemistry Section B

Section Id : 86435158
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435158
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 864351861 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 6.50 molal solution of KOH (aq.) has a density of 1.89 g cm ~®. The molarity of the solution

is o moldm™3,

(Round off to the Nearest Integer).
[Atomic masses : K:39.0 u; O : 16.0 u; H : 1.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 864351861 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KOH (aq.) - 6.50 #ldd gldel 1.89 g cm 2 tddl a4z o, dl glagedl ekl
mol dm 3. 8. (%5l yellsul UGS 2 531

[zl evl : K :39.0 u; O: 16.0uw; H: 1.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 52 Question Id : 864351862 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A certain element crystallises in a bece lattice of unit cell edge length 27A. If the same element
under the same conditions crystallises in the fec lattice, the edge length of the unit cell in A will
be . (Round off to the Nearest Integer).

[Assume each lattice point has a single atom]

[Assume /3 =1.73, /2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351862 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

s [HEA e 2154 514 AR dold 27A WA bee dzidHHl 25lslszel Wi 8. d o dest d o7 R
fee detdaml weslsel Wi dl wisy sl ae dewd Awl 0 =L

(Asosl yelsul 216~ 21 531)

[l dl 5 £ deidy [ =15 o W) dud 8.

[l A 3 =173, V2 =141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351863 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



When light of wavelength 248 nm falls on a metal of threshold energy 3.0 eV, the de-Broglie
wavelength of emitted electrons is A. (Round off to the Nearest Integer).

[Use: 3 =173, h=663x10"%* Js
m,=91x10"3 kg ; ¢=3.0x108 ms~! ; 1eV=1.6 x 10~ 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351863 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3.0 eV zeel Glod «uoll dig Guz 248 nm A AUs UL W52l @AM (falls) Sl 209 i, Goulsid
daszlll S-otidl asadens _AS. (Awsl yalsHl uG-s 2ils 531)

[Guudbl 53 : 3 =173, h=6.63x10"3 Js

m,=91x10" 3 kg ; c=3.0x10° ms™!; 1eV=1.6 x 10" 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction A(g) — B(g) at 495 K, A G =~ 9.478 k] mol !,

If we start the reaction in a closed container at 495 K with 22 millimoles of A, the amount of

B in the equilibrium mixture is millimoles. (Round off to the Nearest Integer).
[R=8.314] mol ! K™!; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 54 Question Id : 864351864 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A(g) = B(g) Wi %2, 495 KW, A G*= —9.478 k] mol .

495 K W2 A i 22 millimoles #2L 25 ¢itl wietdl Wikl 2320 s2al 2ud 9. dl Higa- Baesl B

Al sr2el millimoles %2l (%5 Yolsul AG-s »is 51)

[R=8314] mol ! K~!; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351865 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AB, is 10% dissociated in water to A>* and B~. The boiling point of a 10.0 molal aqueous
solution of AB, is 'C. (Round off to the Nearest Integer).

[Given : Molal elevation constant of water K, =0.5 K kg mol ~! boiling point of pure water
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351865 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AB, -l 10% Wl A2 4 B~ 4l [l 2 6. dl AB, -l 10.0 Hiad srelld glast Gosanlog
o tC8. (Al yelsul ubes s 531)

[2de : el Higd Gtad 2ais K =05 K kg mol ~ ! 24+ 928 welld Gosuq [
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 864351866 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two salts AZK and MX have the same value of squbﬂit}’ product of 1.0 1012, The ratio of

S(AX)
their molar solubilities i.e. W =S . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351866 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALX e MX A #IRL 4.0 X 10 12 gledell 2jeusize 2iq 4 Gl 8. el e glediaiiinAl 2jelids

S (AsX) " C g 8. L3
SO = 5. (sl yeusul AG-s 2y 5)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 864351867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnOz +bC05 +cHY = xMn?* +yCOy +2H,0
If the above equation is balanced with integer coefficients, the value of c is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 864351867 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 MnO7 +bC,03 +cHY — x Mn?* 4y CO, + 2z H,0

yells wepest e Gurddl uia Hqldd s2ari 20 dlc 4 e 6.
(sl yeulsui AG-s iz 531)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 864351868 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The decomposition of formic acid on gold surface follows first order kinetics. If the rate
constant at 300 K is 1.0 10 3 s~ ! and the activation energy E,=11.488 k] mol l the rate
constant at 200 K is _ %1077 s~ L. (Round off to the Nearest Integer).

(Given : R = 8314 Jmol 1K™ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351868 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Al 1l wr slBs wiRis Fazd =0 uas 3 alasld 2443 5. od 300 K W 9oL »uis
1.0x 1073 s~ o ulsuszel wbd E,=11.488 k] mol !¢l dl, 200 K uz 9oL »R1ais

X107 s~ 1o, (sl yeulsul uG-s 2l 51)
(+44 : R = 8314 T mol 1K 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351869 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalents of eth}flr:nc diamine required Lo replace the neutral Ligands from the

coordination sphere of the trans-complex of CoCly4NHy is .. (Round off to the

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351869 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CoCl,4NH, Al gl=u-4belAl 2eel uoud #3 (coordination sphere) Higll deva [@ou-su wEdel
w2 deldl gl szl uudedl 5. (sl yelsul u6-s s s2)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 864351870 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Complete combustion of 750 g of an organic compound provides 420 g of CO, and 210 g of

H,0O. The percentage composition of carbon and hydrogen in organic compound is 15.3 and

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

__ respectively. (Round off to the Nearest Integer).

Question Number : 60 Question Id : 864351870 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

750 g 215 slellHs ddlorrt Uy8l 2e 52l d CO, Al 420 g 24 H,O Al 210 g 24U 8. s1dlAs

dillogrul sl v dglovadl 2sieiEl 153 v 23 8,

(wso5el yellsul uG~s =l 53)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

86435159
5

Online
Mandatory
20

20

80

Yes

1
86435159
Yes

Question Number : 61 Question Id : 864351871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



3 e | X 8
i —‘ i = /—1 - Then, the system of linear equations .-'15[ } = [ w has :

i
af A=
Let [ y &

i
Options :

8643512611. No solution

8643512612. A unique solution

8643512613 [nfinitely many solutions

2643512614, Lxactly two solutions

Question Number : 61 Question Id : 864351871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i -] cos oo g[x] 87«
aRls A=| . = Y- iyl deld A = 4 :
Options :

s6a3512611, e ell

8643512612, 2rtrd G5 ©
8643512613, x4 B5al &

8643512614, “RER A Gidl &

Question Number : 62 Question Id : 864351872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the functions f: R — Rand ¢ : R — R be defined as :

2, x<0 | 1‘3, x =<1
3x -2, =1

Then, the number of points in R where (fog) (x) is NOT differentiable is equal to :
Options :



8643512615, U

8643512616, 1

()

8643512617.

8643512618, 3

Question Number : 62 Question Id : 864351872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ARl S [BEL MR - R2Ag: R — R

| (x +2, x<0 | J 3 xr <1
%)= J i . )= e
f(x) | x*, x=0 1 8(%) |3x =2, x2=1
srod e[ . dl sedl (fog) (x) [sardlal A e dea R L (Gl v .
: s 5 S
Options :

8643512615, U
8643512616, 1

8643512617, 2

8643512618, 3

Question Number : 63 Question Id : 864351873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| N - z +2
Let P be a plane Ix+ my + nz=0 containing the line, 1 = . If plane P
divides the line segment AB joining points A(~3, —6,1) and B(2, 4, — 3) in ratio k : 1 then

the value of k is equal to :
Options :
8643512619, 2

8643512620, 1.9



8643512621, 3

8643512622, 4

Question Number : 63 Question Id : 864351873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
z .yttt 32

|
2 3
A(—3, =6, 1) 21 B(2, 4, —3) A el 20048 AB o k@ 1 <l Jeltazal [@ousr- 53, dl k < 3ed

A UL HHAd P2y + my + nz=08. ol Yad P 24 [G52i0

o 1
URLS5 el

YIH.

Options :
8643512619, 2

8643512620, 1.9

8643512621, 3

8643512622, &

Question Number : 64 Question Id : 864351874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If for a > 0, the feet of perpendiculars from the points A(a, —2a, 3) and B(0, 4, 5) on the plane
Ix + my+nz=0 are points C(0, —a, — 1) and D respectively, then the length of line segment
CDis equal to :

Options :

8643512623. V31

8643512624, VOO

8643512625, V41

i
8643512626, V27



Question Number : 64 Question Id : 864351874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a >0 ot (G52l A(a, —2a,3) 214 B(0, 4, 5) Ul #4cd Ix + my + nz =0 Y3l detwisl 2154 G2l

C(0, —a, —1) @A D €, dl2uris CD Al dend ©.
Options :
8643512623. V31

8643512624, V66

8643512625, V41

=
8643512626. V35

Question Number : 65 Question Id : 864351875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider three observations a, b and ¢ such that b=a +ec. I the standard deviation of
at2 b+2 ct2isd, then which of the following is true 7

Options :

8643512627, 0 —o(@”+c%) —9d”
Dyl 7 )

8643512628, 0 —o@ tc?)+9d

23y o3 .
8643512629, D" =a" ¢~ 3d

8643512630, £~ o@ et dd)

Question Number : 65 Question Id : 864351875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ARl S AL 2l a, b cHe b=atc s at2, b+2 c+2 Wit Buad d ¢ dy, A=
wigl 54 wH © )

Options :



8643512627, 0 —a”tc?) —9d”

2_a0.2 1 2 1042
8643512628, 0 @ +e)+9d

23y o3 .
8643512629, D-=a" ¢~ 3d

2_aa2 4 <24 g2
8643512630, 0 —o@ et hdd)

Question Number : 66 Question Id : 864351876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

M P A A A
Let the position vectors of two points P and Q be 3/ - j + 2k and i + 2j — 4k,

respectively. Let R and S be two points such that the direction ratios of lines PR and Q5 are

(4, 1, 2) and (-2, 1, —2), respectively. Let lines PR and QS intersect at T. If the

vector TA is perpendicular to both PR and ES and the length of vector TA '15.\.@ units,

then the modulus of a position vector of A is :

Options :

8643512631. V5

8643512632, V171

N 227

8643512633.

/482

8643512634.

Question Number : 66 Question Id : 864351876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ARLS oL (GGl P 24 Q Al 2t uBRll 2egs™ 37 — j + 2k 27 + 27 - 4k B ALY,
R 24 S of 2ial (G52l © 5 o4l 2wl PR 24 QS Al [Esvelivy 2433

@ -1,2) 2 (-21, —2) S, a3 T4l PR 24 QS 3 T Wil 88 6. = ula TA 3L PR

2 QS ol dot di L uBal TA Al deus 5 S5 él, AL A «i 2 uBasdl wieis

.
Options :

NG

8643512631

V171

8643512632

8643512633, V227

/482

8643512634.

Question Number : 67 Question Id : 864351877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o M JEL M
Let a vector o4 Bi be obtained by rotating the vector /3 i i by an angle 45" about the

origin in counterclockwise direction in the first quadrant. Then the area of tria_ngie havﬂig

vertices («, [3), (0, ) and (0, 0) is equal to :

Options :

Mln—r'

8643512635.

—_

8643512636.

8643512637.

=

8643512638.



Question Number : 67 Question Id : 864351877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALy el 37 o+ A uE uzerl GhrliHl st Al siadl [Bzea Gaumi 450 A0 weu aed

ol suadL Hadl w6 o + BT 8. dl (o B), (0, B) 244 (0, 0) BEAEEA qwon Bisten] dga

Options :

F-J|r—='

8643512635.

=i

8643512636.

i

8643512637.

1

8643512638. V2

Question Number : 68 Question Id : 864351878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation,

{Sllsinzr | {S-IJL'EL‘\'EI — 30

in the interval [0, 7] is equal to :

Options :

P

8643512639.

Lad

8643512640.

8643512641.

o0

8643512642.

Question Number : 68 Question Id : 864351878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
[0, 7] #vieni wllszel @qypinx @)y = 3ot ollatell dve &,

Options :

(]

8643512639.

8643512640, >

8643512641.

8643512642, B

Question Number : 69 Question Id : 864351879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pack of cards has one card missing. Two cards are drawn randomly and are found to be
spades. The probability that the missing card is not a spade, is :

Options :
”
2
8643512643, 120
52

8643512644, 867

39
8643512645, U

PRy

8643512646.

Question Number : 69 Question Id : 864351879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Uil st Mgl 2is ug Widdd 9. U atsHiEl Oyl 4iERDSs dd sudei 2ud 9 2 d sl el

letl] gH U D, dl vledd g sweild ad - dla-l st 9.
Options :



8643512643.

8643512644.

8643512645.

8643512646.

52

867

39

50

Ry

Question Number : 70 Question Id : 864351880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The range of aeR for which the function

f(x)=(4a — 3) (x + log.5) + 2(a — 7) cot[

is :
Options :

8643512647.

8643512648.

8643512649.

8643512650. {

[1, =)
(— =,
[ i)
=
3, 1)

J

1]

F

VoY w
J5H1|—J
i

k3 | =

%,

x #2nw, neN has critical points,

Question Number : 70 Question Id : 864351880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RAy f(x)=(4a - 3) (x +log.5) +2(a ?]cnt[%] sin2( % |

(Critical points) € A4l aeR -l [Aadr

Options :

e —

{.-} | x = 2nw, neN 4 si[&fﬁtgmﬁ
&)



[1, =)
8643512647.

(— =1
8643512648.

[ 5 21
3
8643512649. '

8643512650. (=39

Question Number : 71 Question Id : 864351881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If n is the number of irrational terms in the expansion of {31.3,' | 5}-34 ]ﬁﬂI , then (n — 1) is divisible
by :

Options :

8643512651. °

= ]

8643512652.

2
8643512653.

=

8643512654, ¢

Question Number : 71 Question Id : 864351881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

hh|5ﬁﬁ-ﬂmmwmhﬂﬁqﬁHH@mﬁn@HJﬁm 1) = ol Gled 8.

Options :
8643512651. 30

8643512652, 8

26
8643512653.



™y

8643512654,

Question Number : 72 Question Id : 864351882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let [x] denote greatest integer less than or equal to x. If for neN,

: 3 _ N ]
1—x+x7) .;{-}a_rl , then
jl:

3n 3n—1
A 2
}__ ay; +4 ‘)___ a74+1 is equal o :
_;l'=ﬂ j=0
Options :
Aan—1
8643512655, =

8643512656, M

I

8643512657.

8643512658, 1

Question Number : 72 Question Id : 864351882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SRLS [x] 2L x 2L x Al AL Heod Yells ed 9. neN 4L, =l

Options :

21
8643512655. <



8643512656, M

8643512657, 2

=

8643512658.

Question Number : 73 Question Id : 864351883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following Boolean expression is a tautology ?
Options :

8643512659, EAdN YY)

8643512660, P DV P —q)

8643512661, £ VAP =9

. M —F 1 -
8643512662, DP9

Question Number : 73 Question Id : 864351883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AlAiniell 59 ol 2lteulsa [HAouucd ©
Options :

8643512659, EAdN YY)

8643512660, £ DV P —q)
8643512661, £V P9

] |
8643512662, D=9

Question Number : 74 Question Id : 864351884 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

k i T
= ] v g
S = tan 1 lim Sy . ; i
Let “k rgl | 2T | 32 J Then [ 7k isequal to:
Options :
413
?
8643512663, =
-1 {3)
cot ' l;
8643512664. A Ed
tan ! (l|
8643512665. 2
tan~ ! (3)
8643512666.

Question Number : 74 Question Id : 864351884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k. 1 A ;
aEly Sk = 2 tan 3T, g5 | a Jim Sk =

r=1 g T

i

Options :

8643512663.

8643512664. o 4

8643512665.

8643512666.

Question Number : 75 Question Id : 864351885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The number of elements in the set {xeR : (x|~ 3) x +4 =6} is equal to :
Options :
8643512667, 1

8643512668, 2

8643512669, -

8643512670, *

Question Number : 75 Question Id : 864351885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AL freR : (Jx]—3) x+4|=6) Al tesiedl vt @,

Options :
8643512667 1

8643512668, 2

8643512669, 2

8643512670, *

Question Number : 76 Question Id : 864351886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A s
If for xe | 0, %J log,gsinx +logscosx = —1 and log,(sinx + cosx) = 7 (log,, n—1), n > 0,

.

then the value of n is r:q_uaI to:

Options :

8643512671,

8643512672, 12

16
8643512673.



8643512674, 2V

Question Number : 76 Question Id : 864351886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' i JTI..."\- Ty - . . % . = 1 . 1 ;\- 5
Xe | 0, EJ 4L, od log, sinx +log,cosx= — 1 2 log,(sinx + cosx) = 2 (log,yn—1), n>0 &4,

dln + 4 .

Options :

8643512671.

8643512672, 12

16
8643512673.

8643512674. 20

Question Number : 77 Question Id : 864351887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o] ()

[f y=y(x) is the solution of the differential equation, Lt—f t 2ytanx = sinx, y[ 3 | = 0, then
cx oS

the maximum value of the function y(x) over R is equal to :

Options :

8643512675, 8

M| =

8643512676.

15

8643512677. %

.
8643512678, 9

Question Number : 77 Question Id : 864351887 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A ~ - d . Soge e e -
s iy =y(x) = [Aset 2alls2el di + 2ytanxy = sinx, y(%} = 0 Al B5d ¢, dIR 4z [8x y(x)
x 5 )

W Hed 9.

Options :
8643512675, B

B[ =

8643512676.

15

8643512677. %

.
8643512678, 9

Question Number : 78 Question Id : 864351888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The locus of the midpoints of the chord of the circle, x* + y>=25 which is tangent to the

©oa "

X" ' ;
hyvperbola, — — =— =1 is:
YP g 16

Options :
2+ y?)2 - 9x% + 144y =0
8643512679, & 1Y) 9% y
24 yH2 02 - 16y2=0
8643512680. { Y ) Y
24y - ol 162 =0
8643512681. { J } s

N e e, B
8643512682, ¥ TY) —16x7+9y7=0

Question Number : 78 Question Id : 864351888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



% 3 9

r 1 = r o S T 2 = H : T
daad X - L =1 3 wyals €l dal ada 22+ 12=25 Al st weuliE vl Bigua
sl < - q y | ]
B,

Options :

24y 2 - 9x2 + 144y%=0
8643512679, & 1Y) 9% y

24y 02 - 16y2=0
8643512680. ) J

24y 02 4 16y2=0
8643512681.( ¥) J

8643512680, (X TY)7 1627 +9y2=0

Question Number : 79 Question Id : 864351889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[f the three normals drawn to the parabola, yr2=21' pass through the point (a, 0) a=0, then

‘a’ must be greater than :

Options :

8643512683, 1

8643512684.

M=

8643512685.

b3 | =

8643512686.

Question Number : 79 Question Id : 864351889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YRAEM Y2 =2x A ERd A6l 2ACdedl o (55 (a, 0) a2 0 Higll yui A, dla” 2 53l 2l
o ¢ldl g,

Options :

8643512683, 1



8643512684.

p =

8643512685.

b3 | =

8643512686.

Question Number : 80 Question Id : 864351890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7l + 11

Let a complex number z, z/= 1, satisfy log 4 —]
== (2| - 1)?

J2

< 2. Then, the largest value of

z| 18 equaI to

Options :

(9]

8643512687.

o

8643512688.

=]

8643512689.

= o]

8643512690.

Question Number : 80 Question Id : 864351890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A
~ = . . ~ zl + 11 . ~ A ~
IRl 5 s Al oz, [z[z1, ¥ log g {—————f; <2 A4 HUWHA 57 Y. dl
-5 \(z—1) )
L
Zd Uy 9.
Options :

8643512687. =

8643512688. ©



=

8643512689,

8643512690, 8

Mathematics Section B

Section Id : 86435160
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435160
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 864351891 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z + 1
E‘=1 and Re (w)

z — 31

Let z and w be two complex numbers such that w = zZ 2z +2

has minimum wvalue. Then, the minimum value of nelN for which w" is real, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 864351891 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- ™ b W = i = " Lo APy, T Ty . Ty ' I { B
ARLS z 2 w2 A 2] ds dv2l Y sevell w = 27 - 22 + 2, ‘—‘ =1 dl Re (w) -i-‘;_-ﬂ'ﬂ

?_1!

Y 8, ol ot Aeads € deil neN o o™ Y

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 864351892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
&
Letf: R — R be a continuous function such that f{x) + flx +1)=2, forall xeR. If I} = I__f{.t‘]dx
1]
2

and I, = J‘I_,l"{x}dr , then the value of Il I ?.I2 is equal to _
-1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8
ail % e B34 £: R — R3AG B % ol 835 xeRUL fla) + flx +1)=2. ot I; = [f(x)dx 247
0
3
I, = j flx)dy d, dl L +20 4 3ed  ul.
-1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



If the normal to the curve y(x)= I{ELE 15t + 10) dt at a point (a, b) is parallel to the line
0

x+3y= -5, a > 1, then the value of ja +6b| is equal to __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. X
a (55 (a, b) WA =5 y(x) = (2% — 15t + 10) dt AL 2ot A v 2 +3y= 5, 2 > 1 A ¥R
0

€, dl [a+ 6b o 4 ol
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 864351894 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X e ey X
: ac bcosx + ce .
If lim : =2, thena+t+b+cis equal to
x—0 xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351894 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



5 oqece et —boogx oo™ L oa o
ml lim - =2 ¢y, dlat+b+tc=
1—) Xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351895 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider an arithmetic series and a geometric series having four initial terms from the set
{11, 8, 21, 16, 26, 32, 4}. II the last terms of these series are the maximum possible four digit

numbers, then the number of common terms in these two series is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351895 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o/l AWRAIAHL AR UEL 28L (11, 8, 21, 16, 26, 32, 4) HiEl €1 ddl wuidz Adl dan wxeldr 3l

AL AL o 24 S AL 89l MEL 2 217 Pisl 205 MM WAL €1, ol 2AL ein B2l L 1
yeiAl dvayy .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 864351896 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



30 20 56

-3

Fi i
Let P=| 90 140 112|and A = 1 i) I | where w= 1+:J€ and I, be the
120 60 14 0 —w —wtl )

identity matrix of order 3. If the determinant of the matrix (P I.ﬂ';i-‘—i_;_]2 is aw?, then the

value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351896 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

>

30 20 56 2 / W
] s # . 1+ {ﬁ
QREP=| 90 140 112| a4 A=|-1 -o L[, sfll 0= ————, 2, A 583
120 60 14 0 ~w —witl -
AL 25y SG1s 9. od Al (PTTAP-15)7 Al (s aw? dd, dlad Y .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351897 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
\| 1
J

£

Let/: (0, 2) = R be defined as f(x) = ‘“82[1 an|

L1

Then, lim 2 [)r(;j ' -'r[g] b ,_.'r[lfl} is equal to

n—oe I o)/

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351897 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

aiRls f:(0,2) = R f(x)= Iogz[ tani et ” sl v fd 9. dl

: . :
lim = | f W I—|I... __.Ir{l_]|=
fi—sco N\ J
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351898 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of 3 ¥ 3 matrices A having entries from the set {0, 1, 2, 3} such that the sum

of all the diagonal entries of AAT is 9, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351898 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
sl 48l 8251 9oL {0, 1, 2, 3) Hidl 2udd d1d aut AAT AL [Asell aestql aaumi 9 éid dan 3 =3 Alos
Adlga dvat  ®.

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 864351899 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let ABCD be a square of side of unit length. Let a circle C; centered at A with unit radius is
drawn. Another circle Cz which touches CI and the lines AD and AB are tangent to it, is
also drawn. Let a tangent line from the point C to the circle C; meet the side AB at E. If the

length of EB is.u Y [, where o, (3 are integers, then a + 5 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351899 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4Rl 5 ABCD 24 2A5% tlsg AL U0l HRH 9. 4121 5 A W2 S(gd 258 Fscusunl adn C siransl 2us
9. C, - 242l 2 AL AD 2L AB e/l 24315 €l dell 22 e C, wet SlReH 219 9. 4L s [Gg
C sigll adn C, wz SRa wuels ctisy ABAE M HA D, ol o, B Uil Al 2 BB Al dows o 1 3

&q'l.i{, dl ot B=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351900 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



d

[
Let the curve y=1y(x) be the solution of the differential equation, d—i= 2Ax + 1), If the

B

numerical value of area bounded by the curve y=y(x) and x-axis is , then the value of

(1) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351900 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- di o .
Al S 95 y=y(x) 2 [sd widlswe 1—“"—— 2(x +1) Al G3d . sd 45 y=y(x) AU x-2I& 512 Hdt
‘ 7 ¥

C

C, ALyl dae 9,

gistsndl dvaicus Bud

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



